

Some Spectrum Estimates of the αq -Cesàro Matrices with $0 < \alpha, q < 1$ on c

Merve Esra Türkay

Department of Mathematics, Faculty of Science, Sivas Cumhuriyet University,

58140, Sivas, Turkey

e-mail: mesra@cumhuriyet.ed.tr

Abstract

q-Calculus Theory is rapidly growing in various directions. The goal of this paper is to collect and underline recent results on αq -analogs of the Cesáro matrix and emphasize various generalizations. One αq -analogs of the Cesáro matrix of order one is the triangular matrix with nonzero entries $c_{nk}^{\alpha}(q) = \frac{(\alpha q)^{n-k}}{1+q+\dots+q^n}, \ 0 \le k \le n$, where $\alpha, q \in (0,1)$. The purpose of this article examines various spectral decompositions of $C_q^{\alpha} = (c_{nk}^{\alpha}(q))$ such as the spectrum, the fine spectrum, the approximate point spectrum, the defect spectrum, and the compression spectrum on the sequence space c.

1 Introduction

spectrum, fine spectrum.

Spectral theory is a sub-branch of functional analysis and its applications. It deals with the general properties of the inverse operator. The principal operator also allows us to understand the relationship between spectrum and set point spectrums. It consists of three discrete sets, the continuous spectrum and the residual spectrum. Spectral theory also plays an important role in physics. For example, in quantum mechanics The point spectrum of the Hamiltonian transformations is the energy at the boundary state of the system. The continuous and residual spectrum play a significant role in distribution theory.

Received: August 16, 2022; Revised & Accepted: September 17, 2022; Published: September 26, 2022

²⁰²⁰ Mathematics Subject Classification: Primary 40H05, 40C99; Secondary 46A35, 47A10. Keywords and phrases: *q*-Hausdorff matrices, lower bound problem, *q*-Cesàro matrices,

The studies on q-mathematics have many applications in branches such as mathematics and engineering in recent years, and the history of studies on these subjects are actually so old that they go back to the time of Euler. With $q \neq 1$, the q-analogue of the integer n is given by the following expression:

$$[n]_q = \frac{1-q^n}{1-q}$$

The transformation given by

$$s_n(x) = \frac{q^n x_0 + q^{n-1} x_1 + q^{n-2} x_2 + \dots + x_n}{1 + q + \dots + q^n}$$
(1.1)

is called the q-Cesàro mean and denoted by C(q). If we take $q \to 1^-$ in (1.1), the C_1 Cesàro transformation given by

$$t_n(x) = \frac{x_0 + x_1 + x_2 + \dots + x_n}{n+1}.$$
 (1.2)

In [9], Bekar studied the q-analogue of this Cesàro transformation given by (1.2). Also [2], Aktuğ and Bekar compared q-Cesàro transform and q-statistical convergence. In [17], [21] and [36], the spectrum and spectral decomposition of the q-Cesàro transform on various spaces are given.

For $0 < \alpha$, q < 1, the transformation given by

$$z_n(x) = \frac{(\alpha q)^n x_0 + (\alpha q)^{n-1} x_1 + (\alpha q)^{n-2} x_2 + \dots + x_n}{1 + q + \dots + q^n}$$
(1.3)

is called the generalized αq -Cesàro mean C_q^{α} or simply the C_q^{α} mean. The matrix of the C_q^{α} method is given by

$$c_{nk}^{\alpha}\left(q\right) = \begin{cases} \frac{\left(\alpha q\right)^{n-k}}{1+q+\dots+q^{n}} & , \ 0 < k \le n\\ 0 & , \ k > n. \end{cases}$$

In this case, $\alpha \to 1^-$ in this matrix, the *q*-Cesàro matrix is obtained. The spectra and spectral decompositions of the αq -Cesàro matrix over the c_0 sequence space are investigated in [34].

This study is about the spectrum and spectral decompositions of the αq -Cesàro operator on Banach space c. Here c denotes the space of convergent sequences, which is considered with the supremum norm. This study is expected to broaden the applicability of q-calculus.

2 Preliminaries and Notation

Let us give a brief information on the spectrum of a bounded linear operator $T: X \to X$, defined in an infinite dimensional X Banach space. Let $T_{\lambda} = T - \lambda I$ for $\lambda \in \mathbb{C}$. If there is an inverse operator T_{λ}^{-1} for $\lambda \in \mathbb{C}$, then $R(\lambda; T) := R_{\lambda}(T) := T_{\lambda}^{-1}$ is called the resolvent operator of T. If 1) $R_{\lambda}(T)$ exists, 2) $R_{\lambda}(T)$ is bounded, and 3) $R_{\lambda}(T)$ is defined on a dense set at X, then this λ is called a regular value of T and $\rho(T, X)$ denotes the set of all regular values of T. The set $\sigma(T, X) = \mathbb{C} \setminus \rho(T, X)$ is also called the spectrum of T. If we are working on a particular Banach space X, we will write $\sigma(T)$ for short instead of $\sigma(T, X)$.

The set in which $R_{\lambda}(T)$ does not exist is called the point spectrum or discrete spectrum, and is denoted by $\sigma_p(T)$. Also, a number $\lambda \in \sigma_p(T)$ is called the eigen-value of T. The set of $\lambda \in \sigma(T)$ elements, where $R_{\lambda}(T)$ exists and will provide 3) but not 2), that is, $R_{\lambda}(T)$ is unbounded, is called the continuous spectrum and it is denoted by $\sigma_c(T)$. The set of $\lambda \in \sigma(T)$ elements such that $R_{\lambda}(T)$ exists (bounded or unbounded) and 3) cannot be realized is called the residue spectrum of T and it is denoted by $\sigma_r(T)$. Thus $\sigma(T) = \sigma_p(T) \cup \sigma_c(T) \cup \sigma_r(T)$ and these sets are binary discrete. This creates the natural spectral decomposition of the $T \in B(X)$ operator [31].

Now let's give the Goldberg decomposition of the $\sigma(T)$ spectrum. Let $\lambda \in \sigma(T)$. Then there are three possibilities for $\mathcal{R}(T_{\lambda})$, the range of $T_{\lambda} = T - \lambda I$: I) T_{λ} is surjective, II) $\overline{\mathcal{R}(T_{\lambda})} = X$, but $\mathcal{R}(T_{\lambda}) \neq X$, III) $\overline{\mathcal{R}(T_{\lambda})} \neq X$; and three possibilities for $R_{\lambda} = T_{\lambda}^{-1}$: 1) T_{λ} is injective and R_{λ} is bounded, 2) T_{λ} is injective and R_{λ} is unbounded, and 3) T_{λ} is not injective.

There are nine different states for a $\lambda \in \mathbb{C}$: I_1 , I_2 , I_3 , II_1 , II_2 , II_3 , III_1 , III_2 , III_3 . If $T_{\lambda} \in I_1$ or $T_{\lambda} \in II_1$ then it is $\lambda \in \rho(T)$. From the closed graph theorem, there is no λ so that $T_{\lambda} \in I_2$, so $I_2 = \emptyset$. Therefore, we get a decomposition of the spectrum as

$$\sigma(T) = I_3 \sigma(T) \cup II_2 \sigma(T) \cup II_3 \sigma(T) \cup III_1 \sigma(T) \cup III_2 \sigma(T) \cup III_3 \sigma(T).$$

This is called the Goldberg decomposition of the spectrum.

We can summarize these two decompositions of the spectrum in with the Table below [24].

		1	2	3
		R_{λ} exists	R_{λ} exists	R_{λ}
		and is bounded	and is unbounded	does not exists
Ι	$\mathcal{R}\left(T_{\lambda}\right) = X$	$\lambda \in \rho\left(T\right)$	_	$\lambda\in\sigma_{p}\left(T\right)$
II	$\overline{\mathcal{R}\left(T_{\lambda}\right)} = X$	$\lambda \in \rho\left(T\right)$	$\lambda\in\sigma_{c}\left(T\right)$	$\lambda\in\sigma_{p}\left(T\right)$
III	$\overline{\mathcal{R}\left(T_{\lambda}\right)} \neq X$	$\lambda\in\sigma_{r}\left(T\right)$	$\lambda\in\sigma_{r}\left(T\right)$	$\lambda\in\sigma_{p}\left(T\right)$

Table 1. Goldberg's and fine decomposition of the spectrum

The fine spectrum of some bounded linear operators over various spaces has been specified by many authors ([1], [12], [18], [19], [20], [22], [23], [25]-[28], [30], [32], [33], [35], [37]-[41]).

Let X be Banach space on a field \mathbb{K} and $T \in B(X)$. If $(x_n) \subset X$ is a sequence such that $||Tx_n|| \to 0$ while $n \to \infty$ and $||x_n|| = 1$, then (x_n) is called a Weyl sequence for T.

The set

$$\sigma_{ap}(T,X) := \{\lambda \in \mathbb{K} : \text{ there is a Weyl sequence for } \lambda I - T\}$$
(2.1)

is called as the approximate point spectrum of T. Moreover, the subspectrum

$$\sigma_{\delta}(T, X) := \{\lambda \in \mathbb{K} : \lambda I - T \text{ is not surjective}\}, \qquad (2.2)$$

is called defect spectrum of T.

The two subspectra (2.1) and (2.2) form a (not necessarily disjoint) subdivision

$$\sigma(T) = \sigma_{ap}(T) \cup \sigma_{\delta}(T) \tag{2.3}$$

of the spectrum. There is another subspectrum,

$$\sigma_{co}(T,X) := \left\{ \lambda \in \mathbb{K} : \overline{R(\lambda I - T)} \neq X \right\}$$
(2.4)

which is often called compression spectrum.

These three sets make up the non-discrete spectrum of the spectrum. (2.4) gives rise to another (not necessarily disjoint) decomposition

$$\sigma(T) = \sigma_{ap}(T) \cup \sigma_{co}(T) \tag{2.5}$$

of the spectrum. Clearly, $\sigma_p(T) \subseteq \sigma_{ap}(T)$ and $\sigma_{co}(T) \subseteq \sigma_{\delta}(T)$. Moreover, we note that

$$\sigma_r(T) = \sigma_{co}(T) \setminus \sigma_p(T)$$
(2.6)

and

$$\sigma_c(T) = \sigma(T) \setminus [\sigma_p(T) \cup \sigma_{co}(T)].$$
(2.7)

Sometimes it is useful to relate the spectrum of a bounded linear operator to that of its adjoint.

Proposition 2.1. [4, Proposition 1.3] The spectra and subspectra of an operator $T \in B(X)$ and its adjoint $T^* \in B(X^*)$ are related by the following relations: (a) $\sigma(T^*) = \sigma(T)$. (b) $\sigma_c(T^*) \subseteq \sigma_{ap}(T)$. (c) $\sigma_{ap}(T^*) = \sigma_{\delta}(T)$. (d) $\sigma_{\delta}(T^*) = \sigma_{ap}(T)$. (e) $\sigma_p(T^*) = \sigma_{co}(T)$. (f) $\sigma_{co}(T^*) \supseteq \sigma_p(T)$. (g) $\sigma(T) = \sigma_{ap}(T) \cup \sigma_p(T^*) = \sigma_p(T) \cup \sigma_{ap}(T^*)$.

We can write the above definition as follows (Table 1)

In order to obtain this non-discrete decomposition for a finite linear operator T, the following template created in the articles [5]-[7], [10] and [11] is used, considering the proposition and Theorems in [4].

		(1)	(2)	(3)
		R_{λ} exists	R_{λ} exists	R_{λ}
		and is bounded	and is unbounded	does not exists
(I)	$\mathcal{R}\left(T_{\lambda}\right) = X$	$\lambda \in \rho\left(T\right)$	_	$\lambda\in\sigma_{ap}\left(T\right)$
(II)	$\frac{\mathcal{R}(T_{\lambda}) \neq X}{\mathcal{R}(T_{\lambda})} = X$	$\lambda \in \rho\left(T\right)$	$\lambda \in \sigma_{ap}\left(T\right)$ $\lambda \in \sigma_{\delta}\left(T\right)$	$\lambda \in \sigma_{ap}\left(T\right)$ $\lambda \in \sigma_{\delta}\left(T\right)$
(III)	$\overline{\mathcal{R}\left(T_{\lambda}\right)} \neq X$	$\lambda\in\sigma_{\delta}\left(T\right)$	$\lambda \in \sigma_{ap}\left(T\right)$ $\lambda \in \sigma_{\delta}\left(T\right)$	$\lambda \in \sigma_{ap}\left(T\right)$ $\lambda \in \sigma_{\delta}\left(T\right)$
		$\lambda\in\sigma_{co}\left(T\right)$	$\lambda\in\sigma_{co}\left(T\right)$	$\lambda\in\sigma_{co}\left(T\right)$

Table 2. Non-discrete decomposition of the spectrum

Various divisions of the spectrum are possible. The non-discrete spectrum (Apporoximate point spectrum, defect spectrum and compression spectrum) can be found in the book entitled "Nonlinear Spectral Theory"; published by J. Appell et al. Using this Table 2, separation of an operator for the first time in the literature was handled in 2011 by Kh. Amirov and Nuh Durna, Mustafa Yıldırım [3]. After, using this separation, the non-discrete spectrum of some bounded linear operators on various spaces has been studied by various authors ([3], [8], [13]-[16]).

3 Boundedness and Various Spectral Decompositions of C_q^{α}

In this section, we will show that C_q^{α} is a bounded linear operator on c, and then examine its various spectral decompositions.

In order for the αq - Cesàro operator matrix given by $C_q^{\alpha} = (c_{nk}^{\alpha}(q))$ to be in B(c), it must be shown that the conditions of the Kojima-Schur Theorem given in [29, p.166] are met.

Lemma 3.1. Let 0 < q < 1, $0 < \alpha < 1$. Then $C_q^{\alpha} \in B(c)$ and $||C_q^{\alpha}|| = 1$.

Proof. i) Since $\alpha < 1$, the following inequality is obtained

$$\begin{aligned} \left\| C_{q}^{\alpha} \right\| &= \sup_{n} \sum_{k=0}^{\infty} |c_{nk}^{\alpha}| = \sup_{n} \left\{ \frac{1}{1+q+\dots+q^{n}} \sum_{k=0}^{n} (\alpha q)^{n-k} \right\} \\ &\leq \sup_{n} \sum_{k=0}^{n} \frac{1+q+\dots+q^{n}}{1+q+\dots+q^{n}} \\ &= 1 \end{aligned}$$

$$(3.1)$$

On the other hand, the following inequality is valid;

$$\begin{aligned} \|C_{q}^{\alpha}\| &= \sup_{x \neq \theta} \frac{\|C_{q}^{\alpha}(x)\|_{c}}{\|x\|_{c}} \\ &= \sup_{\substack{x \neq \theta \\ e^{2} \\ e^{2}}} \frac{\left\|\left(x_{0}, \frac{\alpha q}{1+q}x_{0} + \frac{1}{1+q}x_{1}, \cdots\right)\right\|_{c}}{\|x\|_{c}} \\ &= \sup\left(1, \frac{\alpha q}{1+q}, \frac{\alpha^{2}q^{2}}{1+q+q^{2}}, \cdots\right)\right\|_{c} \\ &= \sup\left(1, \frac{\alpha q}{1+q}, \frac{\alpha^{2}q^{2}}{1+q+q^{2}}, \cdots\right) = 1. \end{aligned}$$
(3.2)

From 3.1 and 3.2, $\left\|C_q^{\alpha}\right\| = 1$ is obtained. ii) For each k

$$\lim_{n \to \infty} \sum_{k=p}^{\infty} c_{nk} = \lim_{n \to \infty} \sum_{k=p}^{n} \frac{(\alpha q)^{n-k}}{1+q+\dots+q^n}$$
$$= \lim_{n \to \infty} \frac{1}{1+q+\dots+q^n} \sum_{k=p}^{n} (\alpha q)^{n-k}$$
$$= \lim_{n \to \infty} \frac{\frac{1-(\alpha q)^{n-p+1}}{1-\alpha q}}{\frac{1-q^{n+1}}{1-q}}$$
$$= \begin{cases} \frac{1-q}{1-\alpha q} \left(\frac{1}{\alpha q}\right)^p, p > 1\\ \frac{1-q}{1-\alpha q}, 0$$

Thus, i) and ii) satisfy the conditions of the Kojima-Schur Theorem in [29, p.166]. This proves the Lemma. $\hfill \Box$

It should be noted that if 0 < q < 1 and $0 < \alpha < 1$, there is always $m \in \mathbb{N}_0$ such that $\alpha < q^m$. There is also $\alpha < q^0 = 1$.

Theorem 3.2. Let 0 < q < 1 and $0 < \alpha \leq 1$. Then, if $\alpha < q^m$, then

$$\sigma_p\left(C_q^{\alpha}, c\right) = \left\{\frac{1}{\sum\limits_{k=0}^{1} q^k}, \frac{1}{\sum\limits_{k=0}^{2} q^k}, \dots, \frac{1}{\sum\limits_{k=0}^{m} q^k}: \alpha < q^m\right\} \cup \{1\}$$

and if $\alpha = 1$, then $\sigma_p(C_q^{\alpha}, c) = \{1\}$.

Proof. Let $C_q^{\alpha} x = \lambda x$. In this case, the following equations exist;

$$x_{0} = \lambda x_{0}$$

$$\frac{1}{\sum_{k=0}^{1} q^{k}} (\alpha q x_{0} + x_{1}) = \lambda x_{1}$$

$$\frac{1}{\sum_{k=0}^{2} q^k} \left((\alpha q)^2 x_0 + \alpha q x_1 + x_2 \right) = \lambda x_2$$

$$(3.3)$$

$$\frac{1}{\sum_{k=0}^{n} q^{k}} \left((\alpha q)^{n} x_{0} + (\alpha q)^{n-1} x_{1} + \dots + \alpha q x_{n-1} + x_{n} \right) = \lambda x_{n}$$
:

If $x_0 \neq 0$, then $\lambda = 1$ is obtained from the first line of equation (3.3). If we put $\lambda = 1$ in other equations, we get $x_n = \alpha^n x_0$, n = 1, 2, ... Thus, since $0 < \alpha \leq 1$, the eigenvector corresponding to $\lambda = 1$ is $x = (\alpha^n) \in c$.

Same way, let x_m be the first nonzero term of the sequence (x_n) . Thus, from the mth row of the equation (3.3)

$$\left(\lambda - \frac{1}{\sum\limits_{k=0}^{m} q^k}\right) x_m = 0$$

is found. Hence, we have

$$\lambda = \frac{1}{\sum_{k=0}^{m} q^k},\tag{3.4}$$

since $x_m \neq 0$. Since $x_1 = x_2 = x_3 = \cdots = x_{m-1} = 0$, from the equations after the (m+1)th line of system, we get

$$x_{m+n} = \frac{\alpha^n q^n \left(\sum_{k=0}^m q^k\right) \left(\sum_{k=0}^{m+1} q^k\right) \cdots \left(\sum_{k=0}^{m+n-1} q^k\right)}{(q^{m+1})^n \left(\sum_{k=0}^1 q^k\right) \cdots \left(\sum_{k=0}^{n-1} q^k\right)} x_m, n = 1, 2, 3, \dots;$$

that is,

$$x_n = \left(\frac{\alpha q}{q^{m+1}}\right)^{n-m} \frac{\left(\sum_{k=0}^m q^k\right) \left(\sum_{k=0}^{m+1} q^k\right) \cdots \left(\sum_{k=0}^{n-1} q^k\right)}{\left(\sum_{k=0}^1 q^k\right) \left(\sum_{k=0}^2 q^k\right) \cdots \left(\sum_{k=0}^{n-m-1} q^k\right)} x_m \text{ for } n > m.$$
(3.5)

Since $q^m > q^n$,

$$\lim_{n \to \infty} \frac{x_{m+n}}{x_{m+n-1}} = \lim_{n \to \infty} \frac{\alpha}{q^m} \left[1 + q^n \frac{1 - q^m}{1 - q^n} \right] = \frac{\alpha}{q^m}$$

is obtained. Therefore, for $\alpha < q^m$, we have $\lim_{n \to \infty} x_{m+n} = 0$, that is, the eigenvector corresponding to $\lambda = \frac{1}{\sum\limits_{k=0}^{m} q^k}$ for $\alpha < q^m$ is $x = (0, 0, \dots, 0, x_m, x_{m+1}, \dots, x_{m+n}, \dots) \in c$. Also, for $\alpha = \lambda = 1$, $C_1^{\alpha}(q) x = \lambda x$ with $x = (1, 1, 1, \dots) \in c$. So the point spectrum is obtained as follows; $\sigma_p\left(C_q^{\alpha}, c\right) = \left\{\frac{1}{\sum\limits_{k=0}^{1} q^k}, \frac{1}{\sum\limits_{k=0}^{2} q^k}, \dots, \frac{1}{\sum\limits_{k=0}^{m} q^k} : \alpha < q^m\right\} \cup \{1\}.$

The following Lemma will be very useful for calculating the adjoint of operator C_q^{α} :

Lemma 3.3. [42, p.267] If $T: c \to c$ is a linear transformation and $T^*: \ell^1 \to \ell^1$, $T^*g = g \circ T, g \in c^* \cong \ell^1$, then T and T^* have matrix representations, also $T^*: \ell^1 \to \ell^1$ is given by

$$T^* = A^* = \begin{pmatrix} \chi (\lim A) & (\vartheta_n)_{n=0}^{\infty} \\ (a_k)_{k=0}^{\infty} & A^t \end{pmatrix}$$
$$= \begin{pmatrix} \chi (\lim A) & \vartheta_0 & \vartheta_1 & \vartheta_2 & \cdots \\ a_0 & a_{00} & a_{10} & a_{20} & \cdots \\ a_1 & a_{01} & a_{11} & a_{21} & \cdots \\ a_2 & a_{02} & a_{12} & a_{22} & \cdots \\ \vdots & \vdots & \vdots & \vdots & \ddots \end{pmatrix},$$

where

$$a_{k} = \lim_{n} a_{nk}$$

$$\chi(A) = \lim Ae - \sum_{k=0}^{\infty} \lim Ae_{k} = \lim_{n} \sum_{k} a_{nk} - \sum_{k} \lim_{n} a_{nk}$$

$$\vartheta_{n} = \chi(P_{n} \circ T) = (P_{n} \circ T) e - \sum_{k} a_{nk},$$

$$a_{nk} = P_{n}(T(e_{k})) = (T(e_{k}))_{n}.$$

If $0 < \alpha < 1$, 0 < q < 1, then one can get the following result from the above Lemma for αq -Cesàro matrix.

Making use of the relations given above Lemma 3.3, we easily arrive at the following Lemma:

Lemma 3.4. The adjoint of $C_1(q)$ on c is given by

$$(C_q^{\alpha})^* = \begin{pmatrix} \frac{1-q}{1-\alpha q} & 0 & 0 & \cdots \\ 0 & & & \\ 0 & & (C_q^{\alpha})^t \\ \vdots & & \end{pmatrix}.$$
 (3.6)

Proof. Since $0 < \alpha < 1$, 0 < q < 1, we get

$$c_k = \lim_n c_{nk} = \lim_{n \to \infty} \frac{(\alpha q)^{n-k} (1-q)}{1-q^{n+1}} = (\alpha q)^{-k} (1-q) \lim_{n \to \infty} \frac{(\alpha q)^n}{1-q^{n+1}} = 0$$

and

$$\sum_{k=0}^{n} c_{nk} = \frac{(1-q)}{1-q^{n+1}} \sum_{k=0}^{n} (\alpha q)^{n-k} = \frac{(1-q)}{1-q^{n+1}} \sum_{k=0}^{n} (\alpha q)^{k} = \frac{(1-q)}{1-q^{n+1}} \frac{1-(\alpha q)^{n+1}}{(1-\alpha q)}.$$

Thus, $\chi(C_q^{\alpha})$ can be calculated as follows;

$$\chi \left(C_{q}^{\alpha} \right) = \lim_{n} \sum_{k} c_{nk} - \sum_{k} \lim_{n} c_{nk} \\ = \lim_{n} \frac{(1-q)}{1-q^{n+1}} \frac{1-(\alpha q)^{n+1}}{(1-\alpha q)} - 0 = \frac{1-q}{1-\alpha q}.$$

To calculate ϑ_n , the following expression is required;

$$\left(P_n \circ C_q^{\alpha}\right)e = \left\{\sum_{k=0}^n c_{nk} x_k\right\}_{x=e} = \sum_{k=0}^n c_{nk} = \frac{(1-q)}{1-q^{n+1}} \frac{1-(\alpha q)^{n+1}}{(1-\alpha q)}.$$
 (3.7)

From (3.7), we have

$$\vartheta_n = \left(P_n \circ C_q^{\alpha}\right)e - \sum_{k=0}^n c_{nk} = \frac{(1-q)}{1-q^{n+1}} \frac{1-(\alpha q)^{n+1}}{(1-\alpha q)} - \frac{(1-q)}{1-q^{n+1}} \frac{1-(\alpha q)^{n+1}}{(1-\alpha q)} = 0$$

Hence, by Lemma 3.3, desired is obtained.

Theorem 3.5. If 0 < q < 1 and $0 < \alpha < 1$, then

$$\sigma_p\left(\left[C_q^{\alpha}\right]^*, (c)^* \simeq \ell^1\right) = \left\{\lambda \in \mathbb{C} : \left|\lambda - \frac{1-q}{1-\alpha^2 q^2}\right| < \frac{1-q}{1-\alpha^2 q^2} \alpha q \right\}$$
$$\cup \left\{1, \frac{1}{\sum\limits_{k=0}^{1} q^k}, \dots, \frac{1}{\sum\limits_{k=0}^{m} q^k} : \alpha < q^m \right\}.$$

Proof. Let $x \neq 0$ and $(C_1^{\alpha})^*(q) x = \lambda x$. Since the matrix $(C_1^{\alpha})^*(q)$ is given by the equation (3.6), the following system of equations is obtained

$$\frac{1-q}{1-\alpha q} x_0 = \lambda x_0$$

$$x_1 + \frac{(\alpha q)}{\sum\limits_{k=0}^{1} q^k} x_2 + \frac{(\alpha q)^2}{\sum\limits_{k=0}^{2} q^k} x_3 + \frac{(\alpha q)^3}{\sum\limits_{k=0}^{3} q^k} x_4 + \dots = \lambda x_1$$

$$\frac{1}{\sum\limits_{k=0}^{1} q^k} x_2 + \frac{(\alpha q)}{\sum\limits_{k=0}^{2} q^k} x_3 + \frac{(\alpha q)^2}{\sum\limits_{k=0}^{3} q^k} x_4 + \dots = \lambda x_2$$

$$\frac{1}{\sum\limits_{k=0}^{2} q^k} x_3 + \frac{(\alpha q)}{\sum\limits_{k=0}^{3} q^k} x_4 + \dots = \lambda x_3$$

$$\frac{1}{\sum\limits_{k=0}^{2} q^k} x_3 + \frac{(\alpha q)}{\sum\limits_{k=0}^{3} q^k} x_4 + \dots = \lambda x_3$$

$$\vdots \qquad .$$

Hence

$$x_n = \frac{x_1}{\left(\alpha q \lambda\right)^n} \prod_{k=1}^n \left(\lambda - \frac{1}{\sum_{v=0}^{k-1} q^v} \right), \ n = 2, 3, \dots$$

where $x_1 \neq 0$.

Let's assume that

$$\lambda \in \left\{ 1, \frac{1}{\sum_{k=0}^{1} q^k}, \frac{1}{\sum_{k=0}^{2} q^k}, \dots, \frac{1}{\sum_{k=0}^{n} q^k}, \dots \right\}.$$

If $\lambda = 1$, then $(C_1^{\alpha})^*(q) x = x$ for $x = (x_0, x_1, 0, \ldots) \in \ell^1$ and $x \neq \theta$. So we get that $1 \in \sigma_p((C_1^{\alpha})^*(q), \ell^1)$.

If
$$\lambda = \frac{1}{1+q}$$
, then $(C_1^{\alpha})^*(q)x = \frac{1}{1+q}x$ for $x = (x_0, x_1, -\frac{x_1}{\alpha}, 0, 0, ...) \in \ell^1$

and $x \neq \theta$. Hence, we get that $\frac{1}{1+q} \in \sigma_p\left(\left(C_1^{\alpha}\right)^*(q), \ell^1\right)$.

If
$$\lambda = \frac{1}{1+q+q^2}$$
, then $(C_1^{\alpha})^*(q)x = \frac{1}{1+q+q^2}x$ for $x =$

Similarly, we obtain

$$\left\{\frac{1}{\sum\limits_{k=0}^{n}q^{k}}\right\}_{n=0}^{\infty} \subset \sigma_{p}\left(\left(C_{1}^{\alpha}\right)^{*}\left(q\right), \left(c\right)^{*} \simeq \ell^{1}\right).$$

Let us now assume that $\lambda \notin \left\{ \frac{1}{\sum\limits_{k=0}^{n} q^k} \right\}_{n=0}^{\infty}$. If

$$\lim_{n \to \infty} \left| \frac{x_{n+1}}{x_n} \right| = \lim_{n \to \infty} \left| \frac{1}{\alpha q \lambda} \left(\lambda - \frac{1}{\sum_{v=0}^n q^v} \right) \right| \\
= \lim_{n \to \infty} \left| \frac{1}{\alpha q \lambda} \left(\lambda - \frac{1-q}{1-q^{n+1}} \right) \right| \\
= \left| \frac{1}{\alpha q \lambda} \left(\lambda - \frac{1-q}{\lim_{n \to \infty} (1-q^{n+1})} \right) \right| < 1,$$
(3.8)

the series $\sum |x_n|$ is convergent and hence $(x_n) \in \ell^1$. For this,

$$\begin{aligned} \left| \frac{1}{\alpha q \lambda} \left(\lambda - (1 - q) \right) \right| &< 1 \Leftrightarrow \left| 1 - \frac{1 - q}{\lambda} \right| < \alpha q \\ \stackrel{\lambda = u + iv}{\Leftrightarrow} \left| 1 - \frac{1 - q}{u^2 + v^2} u + \frac{1 - q}{u^2 + v^2} vi \right| < \alpha q \\ \Leftrightarrow \left| \lambda - \frac{(1 - q)}{(1 - \alpha^2 q^2)} \right| < \frac{(1 - q)\alpha q}{1 - \alpha q}. \end{aligned}$$
(3.9)

is realized. (3.9) shows us, if $\left|\lambda - \frac{(1-q)}{(1-\alpha^2 q^2)}\right| < \frac{(1-q)\alpha q}{1-\alpha q}$, then $(x_n) \in \ell^1$. Also, since

$$\frac{1}{\sum\limits_{k=0}^{m+1} q^k}, \frac{1}{\sum\limits_{k=0}^{m+2} q^k}, \dots \in \left\{\lambda \in \mathbb{C} : \left|\lambda - \frac{1-q}{1-\alpha^2 q^2}\right| < \frac{1-q}{1-\alpha^2 q^2} \alpha q\right\}$$

for $\alpha > q^m$, $m = 0, 1, 2, \dots$, the desired result is obtained.

We know that c is a Banach space, $\sigma\left(\left[C_q^{\alpha}\right]^*, \ell^1\right) = \sigma\left(C_q^{\alpha}, c\right)$ and $\sigma_p\left(C_q^{\alpha}, c\right) \subset \sigma\left(C_q^{\alpha}, c\right)$ are valid. Let's determine the spectrum of C_q^{α} using these.

An infinite matrix defined as

$$\triangle_{a,b} = \begin{pmatrix} a_0 & 0 & 0 & 0 & \dots \\ b_0 & a_1 & 0 & 0 & \dots \\ 0 & b_1 & a_2 & 0 & \ddots \\ 0 & 0 & b_2 & a_3 & \ddots \\ \vdots & \vdots & \vdots & \ddots & \ddots \end{pmatrix}$$

is called a lower triangular double band matrix with a variable sequence, where (a_k) and (b_k) are two nonzero sequences of real numbers with

$$\lim_{n \to \infty} a_n = a \text{ and } \lim_{n \to \infty} b_n = b \neq 0.$$
(3.10)

This matrix defines a $\triangle_{a,b} : c \to c$ operator with

$$\triangle_{a,b} x = \triangle_{a,b}(x_k) = (a_k x_k + b_{k-1} x_{k-1})_{k=0}^{\infty} \text{ with } x_{-1} = b_{-1} = 0$$
(3.11)

Corollary 3.6. The matrix operator $\triangle_{a,b}$ is bounded on c and $\|\triangle_{a,b}\|_{B(c)} = \sup(|a_k| + |b_{k-1}|).$

The matrix $\triangle_{a,b}$ satisfies the conditions of the Kojima-Schur Theorem, so it can be easily seen that it is $\triangle_{a,b} \in B(c)$ and it can also be seen that $\|\triangle_{a,b}\|_{B(c)} = \sup(|a_k| + |b_{k-1}|)$ as in [19].

Theorem 3.7.

$$\sigma(\triangle_{a,b}, c) = \{\lambda \in \mathbb{C} : |\lambda - a| \le |b|\} \cup \{a_k : k \in \mathbb{N}, \ |a_k - a| > |b|\} \cup \{1\}$$

The proof of the theorem can be given by the same method as [19,Theorem 2.1].

Let $0 < \alpha < 1$ and 0 < q < 1. The generalized αq -Cesàro matrix $C_q^{\alpha} : c \to c$

has an inverse and this inverse matrix is given by:

$$\begin{bmatrix} C_q^{\alpha} \end{bmatrix}^{-1} = \begin{pmatrix} A_0 & 0 & 0 & 0 & \dots \\ B_0 & A_1 & 0 & 0 & \dots \\ 0 & B_1 & A_2 & 0 & \ddots \\ 0 & 0 & B_2 & A_3 & \ddots \\ \vdots & \vdots & \vdots & \ddots & \ddots \end{pmatrix},$$

where

$$A_n = \sum_{k=0}^n q^k \text{ and } B_n = -\alpha q a_n \text{ for all } n \in \mathbb{N}_0.$$
(3.12)

Therefore,

$$\lim_{n \to \infty} A_n = \lim_{n \to \infty} \left(1 + q + q^2 + \dots + q^n \right) = \lim_{n \to \infty} \frac{1 - q^{n+1}}{1 - q} = \frac{1}{1 - q} = a,$$

$$\lim_{n \to \infty} B_n = \lim_{n \to \infty} -\alpha q \left(1 + q + q^2 + \dots + q^n \right) = -\frac{\alpha q}{1 - q} = b$$
(3.13)

is obtained from (3.12).

It is clear that the operators $[C_q^{\alpha}]^{-1}$ and C_q^{α} are bijective. If we take $\Delta_{a,b} = [C_q^{\alpha}]^{-1}$ in Theorem 3.7, it is easily seen that the inverse operator $[C_q^{\alpha}]^{-1}$ is bounded on the sequence space c. If we take $\Delta_{a,b} = [C_q^{\alpha}]^{-1}$ in Corollary 3.6, it is an obvious result that it will be $0 \notin \sigma(\Delta_{a,b}, c)$.

Theorem 3.8. If 0 < q < 1 and $0 < \alpha < 1$, then

$$\sigma\left(C_{q}^{\alpha},c\right) = \left\{ \lambda \in \mathbb{C} : \left|\lambda - \frac{1-q}{1-\alpha^{2}q^{2}}\right| \leq \frac{1-q}{1-\alpha^{2}q^{2}}\alpha q \right\}$$
$$\cup \left\{ \frac{1}{\sum\limits_{k=0}^{1}q^{k}}, \dots, \frac{1}{\sum\limits_{k=0}^{m}q^{k}} : \alpha < q^{m} \right\} \cup \left\{1\right\}.$$

Proof. From Theorem 3.5, the following scope is obtained:

$$\sigma_p\left(\left[C_q^{\alpha}\right]^*, \ell^1\right) = \left\{\lambda \in \mathbb{C} : \left|\lambda - \frac{1-q}{1-\alpha^2 q^2}\right| < \frac{1-q}{1-\alpha^2 q^2} \alpha q\right\}$$
$$\cup \left\{\frac{1}{1+q}, \dots, \frac{1}{1+q+\dots+q^m} : \alpha < q^m\right\} \cup \{1\}$$
$$\subset \sigma\left(\left[C_q^{\alpha}\right]^*, \ell^1\right) = \sigma\left(C_q^{\alpha}, c\right).$$

If closure is taken from both sides,

$$\left\{ \begin{aligned} \lambda \in \mathbb{C} : \left| \lambda - \frac{1 - q}{1 - \alpha^2 q^2} \right| &\leq \frac{1 - q}{1 - \alpha^2 q^2} \alpha q \\ \cup \left\{ 1, \frac{1}{1 + q}, \frac{1}{1 + q + q^2}, \ldots \right\} \subset \sigma \left(C_q^{\alpha}, c \right) \end{aligned} \right.$$

is obtained since the spectrum is closed and $1 - q \in \left\{\lambda \in \mathbb{C} : \left|\lambda - \frac{1 - q}{1 - \alpha^2 q^2}\right| \le \frac{1 - q}{1 - \alpha^2 q^2} \alpha q\right\}$. Also, taking $\lambda = \frac{1}{\sum\limits_{k=0}^{m} q^k}$ and $\alpha = q^m$

turns the inequality $\left|\lambda - \frac{1-q}{1-\alpha^2 q^2}\right| \leq \frac{1-q}{1-\alpha^2 q^2} \alpha q$ into equality it should be noted that when $\alpha = q^m$ for a $m \in \mathbb{N}, \ \lambda = \frac{1}{\sum\limits_{k=0}^m q^k}$ is the point at the right end of the circle and on the particular set of $\lambda = \frac{1-q}{\sum\limits_{k=0}^m q^k}$.

the circle and on the x-axis.

From the explanation above the $\left[C_q^{\alpha}\right]^{-1}$ is invertible and bounded on c. From Theorem 3.7, it is known that

$$\sigma\left(\left[C_{q}^{\alpha}\right]^{-1},c\right) = \sigma\left(\triangle_{a,b},c\right)$$

= { $\lambda \in \mathbb{C} : |\lambda - a| \le |b|$ }
 $\cup \{a_{k} : k \in \mathbb{N}, |a_{k} - a| > |b|\} \cup \{1\}$ (3.14)

With $a = \frac{1}{1-q}$, $b = -\frac{\alpha q}{1-q}$, $a_m = \sum_{k=0}^m q^k$, the 1st set forming the union on the second side of equation (3.7) is equal to

$$\left\{\lambda \in \mathbb{C} : \left|\lambda - \frac{1}{1-q}\right| \le \frac{\alpha q}{1-q}\right\}$$

and the 2nd set is equal to

$$\{a_k : k \in \mathbb{N}, |a_k - a| > |b|\} = \{a_0, a_1, \dots, a_m : \alpha < q^m\}.$$

Since

$$\mu = \frac{1}{\lambda} = x + iy \Leftrightarrow \lambda = \frac{1}{\mu} = \frac{1}{x + iy} = \frac{x}{x^2 + y^2} - i\frac{y}{x^2 + y^2} = u + iv,$$

we have

$$\begin{split} \left| \lambda - \frac{1}{1-q} \right| &\leq \frac{\alpha q}{1-q} \quad \Leftrightarrow \left| \frac{1}{\mu} - \frac{1}{1-q} \right| \leq \frac{\alpha q}{1-q} \\ &\Leftrightarrow (u - (1-q))^2 + v^2 \leq (\alpha q)^2 \left(u^2 + v^2 \right) \\ &\Leftrightarrow \left| \mu - \frac{1-q}{1-\alpha^2 q^2} \right| \leq \alpha q \frac{1-q}{1-\alpha^2 q^2}. \end{split}$$

Therefore, the following expressions can be written from the spectral maping Theorem;

$$\begin{split} \sigma\left(C_{q}^{\alpha},c\right) &= \left\{\frac{1}{\lambda} \in \mathbb{C} : \lambda \in \sigma\left(\left[C_{q}^{\alpha}\right]^{-1},c\right)\right\} \\ &= \left\{\frac{1}{\lambda} \in \mathbb{C} : |\lambda - a| \leq |b|\right\} \cup \left\{\frac{1}{a_{m}} : m \in \mathbb{N}, |a_{m} - a| > |b|\right\} \cup \{1\} \\ &= \left\{\frac{1}{\lambda} \in \mathbb{C} : \left|\lambda - \frac{1}{1-q}\right| \leq \frac{\alpha q}{1-q}\right\} \cup \left\{\frac{1}{a_{m}} : m \in \mathbb{N}, \alpha < q^{m}\right\} \cup \{1\} \\ &= \left\{\lambda \in \mathbb{C} : \left|\lambda - \frac{1-q}{1-(\alpha q)^{2}}\right| \leq \frac{1-q}{1-(\alpha q)^{2}} \alpha q\right\} \\ &\cup \left\{\frac{1}{\sum\limits_{k=0}^{0} q^{k}}, \frac{1}{\sum\limits_{k=0}^{1} q^{k}}, \dots, \frac{1}{\sum\limits_{k=0}^{m} q^{k}} : \alpha < q^{m}\right\} \cup \{1\}. \end{split}$$

 $\begin{array}{ll} \textit{Remark 3.9. In Theorem 3.8, since } \left\{ \frac{1}{\sum\limits_{k=0}^{1} q^k}, \frac{1}{\sum\limits_{k=0}^{2} q^k}, \dots, \frac{1}{\sum\limits_{k=0}^{m} q^k} : \ \alpha < q^m \right\} &\subset \\ \left\{ \lambda \in \mathbb{C} : \left| \lambda - \frac{1}{1+q} \right| \le \frac{q}{1+q} \right\} \text{ as } \alpha \to 1^-, \text{ we get} \\ &\sigma \left(C_1 \left(q \right), c \right) &= \left\{ \lambda \in \mathbb{C} : \left| \lambda - \frac{1-q}{1-q^2} \right| \le \frac{1-q}{1-\alpha q^2} q \right\} \\ &\cup \left\{ \frac{1}{\sum\limits_{k=0}^{1} q^k}, \frac{1}{\sum\limits_{k=0}^{2} q^k}, \dots, \frac{1}{\sum\limits_{k=0}^{m} q^k} : \ \alpha < q^m \right\} \cup \{1\} \\ &= \left\{ \lambda \in \mathbb{C} : \left| \lambda - \frac{1}{1+q} \right| \le \frac{q}{1+q} \right\}. \end{array}$

This shows that [17, Theorem 2.6] is still valid when as $\alpha \to 1^-$.

Theorem 3.10. If 0 < q < 1 and $0 < \alpha < 1$, then

$$\sigma_r\left(C_q^{\alpha},c\right) = \left\{\lambda \in \mathbb{C} : \left|\lambda - \frac{1-q}{1-\alpha^2 q^2}\right| < \frac{1-q}{1-\alpha^2 q^2} \alpha q\right\} \cup \{1\}.$$

Proof. We know from Theorem 3.2 and 3.5 that

$$\sigma_p\left(C_q^{\alpha},c\right) = \left\{\frac{1}{1+q},\ldots,\frac{1}{1+q+\dots+q^m}:\alpha < q^m\right\} \cup \{1\},$$

$$\sigma_p\left(\left[C_q^{\alpha}\right]^*,(c)^* \simeq \ell^1\right) = \left\{\lambda \in \mathbb{C}: \left|\lambda - \frac{1-q}{1-\alpha^2 q^2}\right| < \frac{1-q}{1-\alpha^2 q^2} \alpha q\right\}$$

$$\cup \left\{\frac{1}{\sum\limits_{k=0}^{1}q^k},\ldots,\frac{1}{\sum\limits_{k=0}^{m}q^k}: \alpha < q^m\right\} \cup \{1\}.$$

Therefore we get

$$\sigma_r\left(C_q^{\alpha},c\right) = \left\{\lambda \in \mathbb{C} : \left|\lambda - \frac{1-q}{1-\alpha^2 q^2}\right| < \frac{1-q}{1-\alpha^2 q^2} \alpha q\right\} \cup \{1\},\$$

because $\sigma_r\left(C_q^{\alpha},c\right) = \sigma_p\left(C_1^*\left(q\right),\ell^1\right) \setminus \sigma_p\left(C_q^{\alpha},c\right).$

Theorem 3.11. If 0 < q < 1 and $0 < \alpha < 1$ and $\alpha = q^m$, then

$$\sigma_c \left(C_q^{\alpha}, c \right) = \left\{ \lambda \in \mathbb{C} : \left| \lambda - \frac{1 - q}{1 - \alpha^2 q^2} \right| = \frac{1 - q}{1 - \alpha^2 q^2} \alpha q \right\}$$
$$\setminus \left\{ 1, \frac{1}{1 + q}, \dots, \frac{1}{1 + q + \dots + q^m} : \alpha < q^m \right\}$$

and if $\alpha \neq q^m$, then

$$\sigma_c\left(C_q^{\alpha},c\right) = \left\{\lambda \in \mathbb{C} : \left|\lambda - \frac{1-q}{1-\alpha^2 q^2}\right| = \frac{1-q}{1-\alpha^2 q^2} \alpha q\right\}.$$

Proof. Since

$$\sigma_{c}\left(C_{q}^{\alpha},c\right)=\sigma\left(C_{1}\left(q\right),c\right)\setminus\left\{\left\{\sigma_{p}\left(C_{1}\left(q\right),c\right)\cup\sigma_{r}\left(C_{q}^{\alpha},c\right)\right\}\right\},$$

the result can be seen immediately from Theorems 3.2, 3.8, 3.10 and Table 2. \Box

Now let's do the Goldberg classification for the spectrum of operator C_q^{α} .

Lemma 3.12. [24, p.60]A linear operator T has a bounded inverse if and only if T^* is onto.

Theorem 3.13. If 0 < q < 1 and $0 < \alpha < 1$, then

$$\mathcal{III}_{2}\sigma\left(C_{q}^{\alpha},c\right) = \left\{\frac{1}{\frac{m+1}{\sum\limits_{k=0}^{m+1}q^{k}}},\frac{1}{\sum\limits_{k=0}^{m+2}q^{k}},\ldots\right\}$$

where $\alpha < q^m$.

$$(1-\lambda) x_0 = y_0$$

$$(1-\lambda)x_{1} + \frac{\alpha q}{\sum_{k=0}^{1} q^{k}} x_{2} + \frac{(\alpha q)^{2}}{\sum_{k=0}^{2} q^{k}} x_{3} + \frac{(\alpha q)^{3}}{\sum_{k=0}^{3} q^{k}} x_{4} + \dots = y_{1}$$

$$\left(\frac{1}{\sum_{k=0}^{1} q^{k}} - \lambda\right)x_{2} + \frac{(\alpha q)}{\sum_{k=0}^{2} q^{k}} x_{3} + \frac{(\alpha q)^{2}}{\sum_{k=0}^{3} q^{k}} x_{4} + \dots = y_{2}$$

$$(3.15)$$

Thus we get

$$x_{n} = \frac{x_{0}}{(\alpha q \lambda)^{n-1}} \prod_{i=0}^{n-1} \left(\lambda - \frac{1}{\sum_{k=0}^{i} q^{k}} \right) + \frac{y_{0}}{(\lambda q \alpha)^{n-1}} \prod_{i=1}^{n-1} \left(\lambda - \frac{1}{\sum_{k=0}^{i} q^{k}} \right) + \sum_{i=1}^{n-1} \frac{1}{\lambda \sum_{k=0}^{i} q^{k}} \frac{y_{i}}{(q \alpha)^{n-i}} \prod_{v=i+1}^{n-1} \left(\lambda - \frac{1}{\sum_{k=0}^{v} q^{k}} \right) - \frac{1}{\lambda} y_{n+1}.$$
(3.16)

from (3.15). Since
$$\lambda \in \left\{\frac{1}{\sum_{k=0}^{m+1} q^k}, \frac{1}{\sum_{k=0}^{m+2} q^k}, \dots, \frac{1}{\sum_{k=0}^{n} q^k}\right\}$$
 ve $(y_n) \in \ell^1$, we have $x = (x_n) \in \ell^1$ where $x_n = -\frac{1}{\lambda}y_n$. Hence the operator $\left(C_q^{\alpha} - \lambda I\right)^*$ is surjective. For these λ 's, the $C_q^{\alpha} - \lambda I$ operator has bounded inverse. $\frac{1}{\sum_{k=0}^{s} q^k} \in \mathcal{III}_2\sigma\left(C_q^{\alpha}, c\right)$ for $s > m$.

Let us now assume that $\lambda \notin \left\{ \frac{1}{\sum_{k=0}^{m+1} q^k}, \frac{1}{\sum_{k=0}^{m+2} q^k}, \dots \right\}$. Since $\frac{1}{\sum_{k=0}^{0} q^k}, \frac{1}{\sum_{k=0}^{1} q^k}$, $\dots, \frac{1}{\sum_{k=0}^{m} q^k} \notin \mathcal{III}$ from Table 2, it is $\lambda \neq \frac{1}{\sum_{k=0}^{n} q^k}$ for each $n \in \mathbb{N}$. From here, since $y \in \ell^1$ is in equation (3.16), "sequence of (x_n) is convergent if and only if $\prod_{v=0}^{\infty} \left(\lambda - \frac{1}{\sum_{k=0}^{v} q^k}\right)$ must be convergent. Thus, the limit of the general term of the sequence in the infinite product must be 1. From here, we get $\lambda = 2 - q$ since

$$\lim_{v \to \infty} \left(\lambda - \frac{1}{\sum\limits_{k=0}^{v} q^k} \right) = \lim_{v \to \infty} \lambda - \frac{1-q}{1-q^{v+1}} = \lambda - (1-q) = 1.$$

Therefore, since the infinite product for $\lambda \neq 2 - q$ will be divergent, it is $x \notin \ell^1$. Thus, while

$$\lambda \notin \left\{ \frac{1}{\sum_{k=0}^{m+1} q^k}, \frac{1}{\sum_{k=0}^{m+2} q^k}, \dots \right\} \cup \{2-q\},$$
(3.17)

the $(C_q^{\alpha} - \alpha I)^*$ operator is not surjective. From here (3.17) for λ 's, operator $C_q^{\alpha} - \lambda I$ has no bounded inverse. So

$$\left\{\frac{1}{\sum\limits_{k=0}^{m+1} q^k}, \frac{1}{\sum\limits_{k=0}^{m+2} q^k}, \ldots\right\} \subseteq \mathcal{III}_2 \sigma\left(C_q^{\alpha}, c\right) \subseteq \left\{\frac{1}{\sum\limits_{k=0}^{m+1} q^k}, \frac{1}{\sum\limits_{k=0}^{m+2} q^k}, \ldots\right\} \cup \{2-q\}$$

is valid. If we take $\lambda = 2 - q$, the first component of (x_n) in (3.16) becomes

$$\frac{x_0}{(\alpha q (2-q))^n} \prod_{\nu=0}^{n-1} \left(\lambda - \frac{1}{\sum_{k=0}^{\nu} q^k} \right).$$
(3.18)

Since $0 < \alpha < 1$ and q < 1, $0 < \alpha q (2 - q) < 1$ is valid. Hence $\frac{1}{(\alpha q (2 - q))^n} \to \infty$. Thus, even if the infinite product in (3.18) is finite, $x \notin c$ is. From here, $x \notin \ell^1$ is obtained. Thus, if $\lambda = 2 - q$, operator $(C_q^{\alpha} - \lambda I)^*$ is not surjective; i.e, operator $C_q^{\alpha} - \lambda I$ from Lemma 3.12 does not have bounded inverse. As a result,

$$\mathcal{III}_{2}\sigma\left(C_{q}^{\alpha},c\right) = \left\{\frac{1}{\frac{m+1}{\sum\limits_{k=0}^{m+1}q^{k}}},\frac{1}{\sum\limits_{k=0}^{m+2}q^{k}},\ldots\right\}$$

is obtained.

Corollary 3.14. Let 0 < q < 1 and $0 < \alpha < 1$. Then

$$\mathcal{III}_{1}\sigma\left(C_{q}^{\alpha},c\right) = \left\{\lambda \in \mathbb{C}: \left|\lambda - \frac{1-q}{1-\alpha^{2}q^{2}}\right| < \frac{1-q}{1-\alpha^{2}q^{2}}\alpha q\right\} \setminus \left\{\frac{1}{\sum\limits_{k=0}^{m+1}q^{k}}, \frac{1}{\sum\limits_{k=0}^{m+2}q^{k}}, \ldots\right\}$$

where $\alpha < q^m$.

Proof. Since $\sigma_r(C_q^{\alpha}, c) = \mathcal{III}_1 \sigma(C_q^{\alpha}, c) \cup \mathcal{III}_2 \sigma(C_q^{\alpha}, c)$, the proof from Theorem 3.10 and Theorem 3.13 is clear.

The following Corollary is immediately seen from Theorem 3.11.

Corollary 3.15. Let 0 < q < 1 and $0 < \alpha < 1$. If $\alpha = q^m$, then

$$\mathcal{II}_{2}\sigma\left(C_{q}^{\alpha},c\right) = \left\{\lambda \in \mathbb{C}: \left|\lambda - \frac{1-q}{1-\alpha^{2}q^{2}}\right| = \frac{1-q}{1-\alpha^{2}q^{2}}\alpha q\right\} \setminus \left\{\frac{1}{\sum\limits_{k=0}^{m}q^{k}}\right\}$$

and if $\alpha \neq q^m$, then

$$\mathcal{II}_{2}\sigma\left(C_{q}^{\alpha},c\right) = \left\{\lambda \in \mathbb{C}: \left|\lambda - \frac{1-q}{1-\alpha^{2}q^{2}}\right| = \frac{1-q}{1-\alpha^{2}q^{2}}\alpha q\right\}.$$

Let us give the following Lemma, which we will use in the proof of the next Theorem.

Lemma 3.16. [24, Theorem II 3.7] A linear operator T has a dense range if and only if the adjoint operator T^* is one to one.

Theorem 3.17. Let 0 < q < 1 and $0 < \alpha < 1$. Then

$$\mathcal{III}_{3}\sigma\left(C_{q}^{\alpha},c\right) = \left\{\frac{1}{\sum\limits_{k=0}^{1}q^{k}}, \frac{1}{\sum\limits_{k=0}^{2}q^{k}}, \dots, \frac{1}{\sum\limits_{k=0}^{m}q^{k}}\right\} \cup \{1\}$$

where $\alpha < q^m$.

Proof. We know from Table 2 and Theorem 3.2 that

$$\sigma_p \left(C_q^{\alpha}, c \right) = \mathcal{I}_3 \sigma \left(C_q^{\alpha}, c \right) \cup \mathcal{I} \mathcal{I}_3 \sigma \left(C_q^{\alpha}, c \right) \cup \mathcal{I} \mathcal{I} \mathcal{I}_3 \sigma \left(C_q^{\alpha}, c \right)$$
$$= \left\{ \frac{1}{\sum\limits_{k=0}^{1} q^k}, \frac{1}{\sum\limits_{k=0}^{2} q^k}, \dots, \frac{1}{\sum\limits_{k=0}^{m} q^k} \right\} \cup \{1\}$$

for $\alpha < q^m$. Let $(C_q^{\alpha} - I)^* x = \theta$ and $x_0 = 1$. Thus, we have

$$x_{1} = \frac{1}{\lambda \alpha q} \left(\lambda - \frac{1}{\sum\limits_{k=0}^{0} q^{k}} \right)$$

$$x_{2} = \frac{1}{(\lambda \alpha q)^{2}} \left(\lambda - \frac{1}{\sum\limits_{k=0}^{0} q^{k}} \right) \left(\lambda - \frac{1}{\sum\limits_{k=0}^{1} q^{k}} \right)$$

$$\vdots$$

$$x_{m} = \frac{1}{(\lambda \alpha q)^{m}} \prod_{k=0}^{m} \left(\lambda - \frac{1}{\sum\limits_{k=0}^{k} q^{k}} \right).$$

From these equations the following facts are obtained. Since $x^0 = (1, 0, 0, ...) \neq \theta$ and $x^0 \in Ker(C_q^{\alpha} - I)$, the $(C_q^{\alpha} - I)^*$ operator is not one-to-one. So it is $1 \in III_3\sigma(C_q^{\alpha}, c)$. Since $x^1 = (1, \frac{1+q}{\alpha q}(\frac{1}{1+q} - 1), 0, 0, ...) \neq \theta$ and

 $x^1 \in Ker\left(C_q^{\alpha} - \frac{1}{1+q}I\right)$, the $\left(C_q^{\alpha} - \frac{1}{1+q}I\right)^*$ operator is not one-to-one. So it is $\frac{1}{1+q} \in \mathcal{III}_3\sigma\left(C_q^{\alpha}, c\right)$. Continuing this way, since

$$\begin{aligned} x^m &= \left(1, \frac{1+q+\dots+q^m}{\alpha q} \left(\frac{1}{\sum\limits_{k=0}^m q^k} - 1\right), \frac{(1+q+\dots+q^m)^2}{(\alpha q)^2} \left(\frac{1}{\sum\limits_{k=0}^m q^k} - 1\right) \left(\frac{1}{\sum\limits_{k=0}^m q^k} - \frac{1}{\sum\limits_{k=0}^1 q^k}\right), \\ &\dots, \frac{(1+q+\dots+q^m)^2}{(\alpha q)^2} \prod_{k=0}^m \left(\frac{1}{\sum\limits_{k=0}^m q^k} - \frac{1}{\sum\limits_{k=0}^k q^k}\right), 0, \dots \right) \\ &\neq \theta, \end{aligned}$$

and $x^m \in Ker\left(C_q^{\alpha} - \frac{1}{1+q}I\right)$, the $\left(C_q^{\alpha} - \frac{1}{\sum_{k=0}^m q^k}I\right)^*$ operator is not one-to-one. So it is $\frac{1}{\sum_{k=0}^m q^k} \in \mathcal{III}_3\sigma\left(C_q^{\alpha}, c\right)$. Consequently, we have

$$\mathcal{III}_{3}\sigma\left(C_{q}^{\alpha},c\right) = \left\{1,\frac{1}{\sum\limits_{k=0}^{1}q^{k}},\frac{1}{\sum\limits_{k=0}^{2}q^{k}},\ldots,\frac{1}{\sum\limits_{k=0}^{m}q^{k}}\right\}$$

for $\alpha < q^m$.

Corollary 3.18. Let 0 < q < 1 and $0 < \alpha < 1$. $\mathcal{I}_3\sigma\left(C_q^{\alpha}, c\right) = \mathcal{I}\mathcal{I}_3\sigma\left(C_q^{\alpha}, c\right) = \emptyset$.

Proof. The proof is clear from Table 2, Theorem 3.2 and Theorem 3.17.

Now, let's determine the defect spectrum, the approximate point spectrum, the compression spectrum of the operator C_q^{α} .

Theorem 3.19. Let 0 < q < 1 and $0 < \alpha < 1$. The following expressions are hold;

(a)

$$\sigma_{ap}\left(C_{q}^{\alpha},c\right) = \left\{\lambda \in \mathbb{C} : \left|\lambda - \frac{1-q}{1-\alpha^{2}q^{2}}\right| = \frac{(1-q)\,\alpha q}{1-\alpha^{2}q^{2}}\right\}$$
$$\cup \left\{1, \frac{1}{1+q}, \frac{1}{1+q+q^{2}}, \ldots\right\}, \text{ for } \alpha < q^{m}.$$

(b)

$$\sigma_{\delta}\left(C_{q}^{\alpha},c\right) = \left\{\lambda \in \mathbb{C} : \left|\lambda - \frac{1-q}{1-\alpha^{2}q^{2}}\right| \leq \frac{(1-q)\,\alpha q}{1-\alpha^{2}q^{2}}\right\}$$
$$\cup \left\{1, \frac{1}{\sum\limits_{k=0}^{1}q^{k}}, \dots, \frac{1}{\sum\limits_{k=0}^{m}q^{k}}\right\}, \text{ for } \alpha < q^{m}.$$

$$\sigma_{co}\left(C_{q}^{\alpha},c\right) = \left\{\lambda \in \mathbb{C} : \left|\lambda - \frac{1-q}{1-\alpha^{2}q^{2}}\right| < \frac{(1-q)\alpha q}{1-\alpha^{2}q^{2}}\right\}$$
$$\cup \left\{\frac{1}{\sum\limits_{k=0}^{0}q^{k}}, \frac{1}{\sum\limits_{k=0}^{1}q^{k}}, \dots, \frac{1}{\sum\limits_{k=0}^{m}q^{k}}\right\}, \text{ for } \alpha < q^{m}$$

Proof. (a) The desired result is obtained by using Table 2, Theorem 3.8, Corollary 3.14 and the expression $\sigma_{ap}\left(C_q^{\alpha},c\right) = \sigma\left(C_q^{\alpha},c\right) \setminus \mathcal{III}_1\sigma\left(C_q^{\alpha},c\right)$.

(b) The desired result is obtained by using Theorem 3.13, Table 2, Theorem 3.8, Corollary 3.18 and the expression $\sigma_{\delta}(C_q^{\alpha}, c) = \sigma(C_q^{\alpha}, c) \setminus \mathcal{I}_3 \sigma(C_q^{\alpha}, c)$.

(c) The desired result is obtained by using Theorem 3.13, Table 2, Theorem 3.17, Corollary 3.14 and the expression $\sigma_{co}\left(C_q^{\alpha},c\right) = \mathcal{III}_1\sigma\left(C_q^{\alpha},c\right) \cup \mathcal{III}_2\sigma\left(C_q^{\alpha},c\right) \cup \mathcal{III}_3\sigma\left(C_q^{\alpha},c\right).$

Corollary 3.20. Let 0 < q < 1 and $0 < \alpha < 1$. (a)

$$\sigma_{ap}\left(\left[C_{q}^{\alpha}\right]^{*}, \ell^{1}\right) = \left\{\lambda \in \mathbb{C} : \left|\lambda - \frac{1-q}{1-\alpha^{2}q^{2}}\right| \leq \frac{(1-q)\,\alpha q}{1-\alpha^{2}q^{2}}\right\}$$
$$\cup \left\{1, \frac{1}{\sum\limits_{k=0}^{1} q^{k}}, \dots, \frac{1}{\sum\limits_{k=0}^{m} q^{k}}\right\} \text{ for } \alpha < q^{m},$$

(b)

$$\sigma_{\delta}\left(C_{1}^{\alpha*}\left(q\right),\ell^{1}\right) = \left\{\lambda \in \mathbb{C}: \left|\lambda - \frac{1-q}{1-\alpha^{2}q^{2}}\right| = \frac{(1-q)\,\alpha q}{1-\alpha^{2}q^{2}}\right\}$$
$$\cup \left\{1, \frac{1}{1+q}, \frac{1}{1+q+q^{2}}, \ldots\right\} \text{ for } \alpha < q^{m}.$$

Proof. The expressions $\sigma_{ap}([C_q^{\alpha}]^*, \ell^1) = \sigma_{\delta}(C_q^{\alpha}, c)$ and $\sigma_{\delta}([C_q^{\alpha}]^*, \ell^1) = \sigma_{ap}(C_q^{\alpha}, c)$ are known from [4]. Thus, the desired result is obtained from Theorem 3.19.

References

- A. M. Akhmedov and S. R. El-Shabrawy, Spectra and fine spectra of lower triangular double-band matrices as operators on ℓ_p (1 ≤ p < ∞), Math. Slovaca 65(5) (2015), 1137-1152. https://doi.org/10.1515/ms-2015-0078
- [2] H. Aktuğlu and Ş. Bekar, q-Cesáro matrix and q-statistical convergence, J. Comput. Anal. Appl. 235(16) (2011), 4717-4723. https://doi.org/10.1016/j.cam.2010.08.018
- [3] R. Kh. Amirov, N. Durna and M. Yildirim, Subdivisions of the spectra for Cesáro, Rhaly and weighted mean operators on c_0 , c and ℓ_p , *IJST* 35(A3) (2011), 175-183.
- [4] J. Appell, E. De Pascale and A. Vignoli, Nonlinear Spectral Theory, Berlin, New York, Walter de Gruyter, 2004.
- [5] F. Başar, N. Durna and M. Yildirim, Subdivisions of the spectra for generalized difference operator Δ_v on the sequence space ℓ^1 , AIP Conference Proceedings 1309 (2010), 254-260. https://doi.org/10.1063/1.3525122
- [6] F. Başar, N. Durna and M. Yildirim, Subdivisions of the spectra for the triple band matrix over certain sequence spaces, *Gen. Math. Notes* 4(1) (2011), 35-48.
- [7] F. Başar, N. Durna and M. Yildirim, Subdivisions of the spectra for genarilized difference operator over certain sequence spaces, *Thai J. Math.* 9(1) (2011), 285-295.
- [8] F. Başar, N. Durna and M. Yildirim, Subdivision of the spectra for difference operator over certain sequence space, *Malays. J. Math. Sci.* 6 (2012), 151-165.
- [9] Ş. Bekar, q-Matrix Summability Methods, Ph.D. Dissertation, Eastern Mediterranean University 2010.
- [10] N. Durna and M. Yildirim, Subdivision of the spectra for factorable matrices on c and ℓ^p , Mathematical Communications 16(2) (2011), 519-530.
- [11] N. Durna and M. Yildirim, Subdivision of the spectra for factorable matrices on c_0 , Gazi University Journal of Science 24(1) (2011), 45-49.
- [12] N. Durna, M. Yildirim and Ç. Ünal, On the fine spectrum of generalized lower triangular double band matrices Δ_{uv} over the sequence space c₀, Cumhuriyet Sci. J. 37(3) (2016), 281-291. https://doi.org/10.17776/csj.03831

- [13] N. Durna, Subdivision of the spectra for the generalized upper triangular double-band matrices Δ^{uv} over the sequence spaces c and c, ADYUSCI 6(1) (2016), 31-43.
- [14] N. Durna, Subdivision of the spectra for the generalized difference operator $\Delta_{a,b}$ on the sequence space ℓ_p (1 ,*CBU J. Sci.*13(2) (2017), 359-364.
- [15] N. Durna, M. Yildirim, R. Kılıç, Partition of the spectra for the generalized difference operator B(r,s) on the sequence space cs, Cumhuriyet Sci. J. 39(1) (2018), 7-15. https://doi.org/10.17776/csj.369069
- [16] N. Durna, Subdivision of spectra for some lower triangular doule-band matrices as operators on c₀, Ukr. Mat. Zh. 70(7) (2018), 913-922. https://doi.org/10.1007/s11253-018-1551-7
- [17] N. Durna and M. E. Türkay, The spectrum of q-Cesáro matrices on c and Its various spectral decomposition for 0 < q < 1, Oper. Matrices 15(3) (2021), 795-813. https://doi.org/10.7153/oam-2021-15-55
- [18] E. Dündar and F. Başar, On the fine spectrum of the upper triangle double band matrix Δ^+ on the sequence space c_0 , Math. Commun. 18(2) (2013), 337-348.
- [19] S. R. El-Shabrawy, Spectra and fine spectra of certain lower triangular double-band matrices as operators on c₀, J. Inequal. Appl. 2014(1) (2014), 1-9. https://doi.org/10.1186/1029-242X-2014-241
- [20] S. R. El-Shabrawy and S. H. Abu-Janah, Spectra of the generalized difference operator on the sequence spaces bv₀ and h, Linear and Multilinear Algebra 66(8) (2018), 1691-1708. https://doi.org/10.1080/03081087.2017.1369492
- [21] S. R. El-Shabrawy, On q-Cesáro operators: boundness, compactness and spectra, Numer. Funct. Anal. Optim. 42(9) (2021), 1019-1037. https://doi.org/10.1080/01630563.2021.1933027
- [22] J. Fathi and L. Rahmatollah, On the fine spectra of the generalized difference operator Δ_{uv} over the sequence space ℓ_p , JMMRC 1(1) (2012), 1-12.
- [23] H. Furkan, H. Bilgiç and F. Başar, On the fine spectrum of the operator B(r, s, t) over the sequence spaces ℓ_p and bv_p , (1 , Comput. Math. Appl. 60(7) (2010), 2141-2152.

- [24] S. Goldberg, Unbounded Linear Operators, McGraw Hill, New York, 1966.
- [25] M. Gonzalez, The fine spectrum of Cesáro operator in ℓ_p (1 \infty), Arch. Math. 44 (1985), 355-358. https://doi.org/10.1007/BF01235779
- [26] V. Karakaya and M. Altun, Fine spectra of upper triangular double-band matrices, J. Comput. Appl. Math. 234 (2010), 1387-1394.
 https://doi.org/10.1016/j.cam.2010.02.014
- [27] V. Karakaya, M. D. Manafov and N. Şimşek, On the fine spectrum of the second order difference operator over the sequence spaces ℓ_p and bvp, (1
 https://doi.org/10.1016/j.mcm.2011.08.021
- [28] V. Karakaya and M. D. Manafov and N. Şimşek, On fine spectra and subspectrum (approximate point, defect and compression) of operator with periodic coefficients, *Journal of Nonlinear and Convex Analysis* 18(4) (2017), 709-717.
- [29] I. J. Maddox, *Elements of Functional Analysis*, Cambridge University Press, 1970.
- [30] M. Mursaleen, M. Yildirim and N. Durna, On the spectrum and Hilbert Schimidt properties of generalized Rhaly matrices, *Commun. Fac. Sci. Univ. Ank. Series A1* 68(1) (2019), 712-723. https://doi.org/10.31801/cfsuasmas.464177
- [31] E. Kreyszing, Introductory Functional Analysis with Applications, John Wiley & Sons Inc., New York Chichester Brisbane Toronto, 1978.
- [32] B. E. Rhoades and M. Yildirim, Spectra and fine spectra for factorable matrices, Integral Equations Operator Theory 53(1) (2005), 127-144. https://doi.org/10.1007/s00020-003-1296-y
- B. E. Rhoades, The fine spectra for weighted mean operators in B(l^p), Integral Equations Operator Theory 12(1) (1989), 82-98.
 https://doi.org/10.1007/BF01199758
- [34] M. E. Türkay, Some spectrum estimates of the αq -Cesáro matrices with $0 < \alpha, q < 1$ on c_0 , Konuralp J. Math. (2022) (Accepted)
- B. C. Tripathy and R. Das, Fine spectrum of the upper triangular matrix U(r,0,0,s) over the sequence spaces c₀ and c, *Proyecciones* 37(1) (2018), 85-101. https://doi.org/10.4067/S0716-09172018000100085

- [36] M. E. Yildirim, The spectrum and fine spectrum of q-Cesáro matrices with 0 < q < 1 on c_0 , Numerical Functional Analysis and Optimization 41(3) (2020), 361-377. https://doi.org/10.1080/01630563.2019.1633666
- [37] M. Yildirim, The spectrum and fine spectrum of the compact Rhaly operator, Indian J. Pure Appl. Math. 27(8) (1996), 779-784.
- [38] M. Yildirim, The spectrum of Rhaly operator on ℓ_p , Indian J. Pure Appl. Math. 32(2) (2001), 191-198.
- [39] M. Yildirim and N. Durna, The spectrum and some subdivisions of the spectrum of discrete generalized Cesáro operators on ℓ_p , (1 , J. Inequal. Appl. 193 (2017), 1-13. https://doi.org/10.1186/s13660-017-1464-2
- [40] M. Yildirim, M. Mursaleen and Ç. Doğan, The spectrum and fine spectrum of generalized Rhaly-Cesáro matrices on c₀ and c, Oper. Matrices 12(4) (2018), 955-975. https://doi.org/10.7153/oam-2018-12-58
- [41] R. B. Wenger, The fine spectra of the Hölder summability operator, Indian J. Pure Appl. Math. 6(6) (1975), 695-712.
- [42] A. Wilansky, Summability Through Functional Analysis, North Holland, 1984.

This is an open access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0/), which permits unrestricted, use, distribution and reproduction in any medium, or format for any purpose, even commercially provided the work is properly cited.